
Problem: Negative Powers      
Look at this expression using ‐4 to three powers.                             
                                                                 
    
                    
                       
 Rearrange the base (‐4) and exponents (‐3, ‐2, and ‐1) 
to obtain the greatest value after simplifying the 
expression. 

 Rearrange the base (‐4) and exponents (‐3, ‐2, and ‐1) 
to obtain the least value after simplifying the 
expression. 

 Use mathematics to justify your answer. 
 


